10—1:_ .................................. —0.0>
E niries - 70..6
i g%?m %8 ga
102 : : :

107

1074

Ratio

5 R ; : : :
-10-8 6 -4 -2 0 2 4 6 8 10

[ pull of goverp parameter |

res

ey ogk
e = Ie
10 E Gith . 1
: o ol
[ Qe et
r gma__ 1
10-2 R S

1072

10

Ratio

-10-8 6 -4 -2 0 2 4 6 8 10

,_D'QWI_CK'I—_QCD'H@I'TPmn
== DOM_mKkFit_QCDHighPt_retrain

[ pull of @parameter |

- TeS ) 000d
10 g%;%f‘vm o%a“]gé 7
E TEs— T
C g dPey
i E)ns;am. o 80 q%é[
1 0_2 - . .
107° e

...........

Ratio

-10°8 56 =4 =2 0 2 4 6 8 10

[ pull of dxy parameter

res

. 0.00,
. ] l(gl;%lanl _0.6);9

r-

IE

‘. a. 0.00f

107}

1072

[y

S
)
|

Ratio

B O T I

[ pull of 6 parameter |

res

o g e 99
107 e o%ffé
E : : : : i nes
: onslam gogéﬁg‘;
10—25_ -----------------------
10*3 ...............

Ratio

10§64 =20 2 4 6 810

[ pull of dz parameter

107}

1072

JEny
S
)
™[

Ratio

—.L086420246810



	Contents
	Page 1


